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1. Fig. 1 show a four-bar linkage, which is a crank-rocker mechanism.
If r,=100cm, rs=150cm, r4=200cm, please find the length range of ry.
(15%)

2. Fig. 2 show an offset crank-slider.  For the mechanism,
e=50cm > r=200cm > rz=400cm, (a) Max. transmission

and Min. transmission angle, (b) The stroke of this offset

crank-slider. (15%)

Fig.1. Four-bar linkage

a

if
angle

ry

Fig. 2 An offset crank-slider



3. Fig. 3 show a four-bar linkage. For the mechanism, if r;=180cm,
r=100cm, rz=150cm, and rs =200cm, (a) write down the vector loop
equation, (b) if =60° and « 2=2400rpm, please find the values of &,
64, and transmission angle «, (c) if «2=2400rpm, please find he values
of wszand w4 (20%)

Fig.3. Four-bar linkage

4. For the mechanism shown m Fig.1, (a) please write down the vector loop equation, (b) find the close
form equation for ra, (c) if & =60° and @ 2=2400rpm, please find ra, &, Vb, and « 3.(20%)



5. Figs. 5(a) and 5(b) show two mechanisms. Please draw all instantaneous centers. (15%)

Fig. 5(b) Five-bar mechanism

Fig. 5(a) Four-bar mechanism

6. Fig. 6 show a crank-slider. For the mechanism, if aa,=200cm - a,b=400cm > ad=800cm -
cd=600cm > be=500cm > and @ »=100 rad/s - (a) According to the real dimensions of mechanism,
please redraw this mechanism, (b) Using instant center method, find the angular velocity of link 3
(w3) and linear velocity of point ¢ (V). (15%)
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Fig. 6 Four-bar mechanism



